MAP 4175 /5177 Name: -
Quiz 12 — Take Home Date: November 28, 2018 — Due on November 29, 2018

Show all work for full credit, and use correct notation. Simplify answers completely.

A 4-state model has states: Healthy (0), Sick (1), Dead (2), and Terminally Il1 (3).

The transition intensities are:

WO = 00001695 07 = 2 = 6uf  p =l = 005490 0 = 0.4u
uet = 1.2p5°

1. Determine 1000 - ui%

2. Determine 1000 - C, where C is such that u32,, = C - ¢00¢¢

3. Determine cp3).



4, Determine pig

5. Determine gp32



